Day 1 - Maths Summer Term Week 8 gvg
1. We are working on: (w/c I5™ June)

2. Then find the lesson you are en
Understand percentages

3. Watch the video on:https://vimeo.com/428001381

Year®
Bronze

4. You will need a penct and pg3z to help work out the answers

. Watch the video and practice as you go along

(read through the slides practice as you go along)

6. Have a go m At the end of the video or slides, answer the questions that are in your pack


https://vimeo.com/418156588
https://vimeo.com/418156588

There are __3/ parts out of a hundred shaded.

There are 100
squares on all
of these grids

Per cent means out C T T T

of 100 Has 67 of the bar model been shaded? Discuss.
CENT means 100 6 out of I0 pieces shaded = %
6 60

-lo'==ib—0' = 60 out of 100 = 60/,

LR L L

Remember, percentages are always
out of 100.

Thmm.lpa‘#soufofahmdredé\oded
This is -39 _ 7

49/ is shaded, so S/ is not shaded.



A AN There are |00 crayons ina bOX.
“Crayons | 10/ are broken.

How many are broken?

|00 crayons
”~ L ~
B [ T T T T 7T 7T 71
O bk

10

crayons are broken.

To find 10%, divide the number by 10.

AN AAA There are 200 crayons in a box.
m |07 are broken.

How many are broken?

200 crayons

1 N I N
s
20

u

crayons are broken.

200 divided by 10 20




Understand percentages

o Complete the sentence for each diogram.

a)

b)

There are

hundred shoded.

This is Y.

There are

hundred shoded.

This is .

There are

hundred shaded.

This is Y.

parts out of a

parts out of a

parts out of a

@ ﬂ Complete the table.

Hundred square Percentage

82%

o Shode 15% of the hundred square red.
Shode 32% of the hundred square blue.

What percentage of the hundred squaore is not shoded? %

O R Maihe 2013



o a) Is 1% of this bar model shaded? o Dexter has £1 to spend.

He buys some stickers.

1%

Explain your remsoning. |::I got 35p ch

Whaot percentoge of his money did Dexter spend?
b} Whot percentoge of exdh bor model is shoded?

* o Aisha and Brett howe been selling tickets for the school play.

There are 100 seats ovailable.
« On Monday they sold 34% of the tickets.

# On Tuesdoy they sold 42 tickets.
+ By the end of Wednesdoy, 95% of the tickets hod been sold.

" Honwr mony tideets did they sell on Wednesday?
e Fassengers are boarding a plane. QJ Cn Wednesday they sold tickets.
The plane has 100 seots.
aj 10% of the seats are already full.
Howw many possengers are alreody on the plans? e Shode 85% of this bar model.
b} 15% of the seats hove not been booked. | | | | | | | | | | |
How many seats hove besn booked? Compare answers with a partrer.

€ How many pasengers <till need o bonrd the plane? e




@ 9 Complete the table.

Understand percentages

Hundred square Percentage

o Complete the sentence for each diogram.

a) Thereare| “| |parts outofa

hundred shoded.

This is| %,

82%

b)

There are | & L | ports out of o

hundred shaded. EETRARRER

This is] {4 | . o Shode 15% of the hundred square red.
Shode 32% of the hundred square blue.

o] i

T | iy

o -:\-\.Q-.\:'

There are 5 | parts out of @ B

hundred shaded. -
This is| L5 | %o.

Whaot percentoge of the hundred square is not shaded?

LN
[ ]



o a) Is 1% of this bar model shaded? . o Dexter has £1 to spend.

He buys some stickers.

1%

___.-'"'- T
Explain your reasoning. (1 got 35p change. 3 '
_— § a kx‘m___ __.-'"‘L:

Whaot percentage of his money did Dexter spend?
b} Whot percentoge of each bor model is shaded?

% o Aisho and Brett howve been selling tickets for the school ploy.

There are 100 seats avoilable.
+ On Monday they sold 31% of the tickets. |4

s On Tuesdoy they sold 42 tickets.
#= By the end of Wednesdoy, 95% of the tickets hod been sold.

* Howe miany tickets did they sell on Wednesd oy?
e Passengers are boarding o plane. @ On Wednesday they sold 1 | tickets.
The plone hos 100 seots.
aj 10% of the seats are already full.
How mony pasengers are alreody on the plone? ] B Shode B85% of this bor model.

b} 15% of the seats hove not been booked.

How many seats hove been bocked? Compare answers with o partner.

7 Howmeny pessnser Sineed & beord hepene? ]




White

1. We are workingo  (w/c I15™ June)

Day 2 - Maths Summer Term Week 8 D

2. Then find the lesson you are er

Percentages as fractions and

decimals

3. Watch the video on:https://vimeo.com/428001420

4. You will need a pencil and paper to help work out the answers

/

. Watch the video and practice as you go

cu'\.n-'iy

(read through the slides practice as you go along)

6 At the end of the video or slides, answer the questions that are in your pack

Have a go m


https://vimeo.com/418156588
https://vimeo.com/418156588

S0

— =— or 05 as a decimal.
00 10

Percent means '‘out of a hundred’ so 50
out of 100 is 50/

Which is greater 42/ or 2”

100
. Y2
They are both the same Y2/ = —
100
Which is greater 42/ or %?

042 : 42/




52,

Which eater 38/
m 18 greater T joo '00 Which is greater 38/ or KS)%
I

S e
cl)I)E)he - — b 38 out of + | 38—'/1 1 38
squares - i X0
shaded .38
100 52 out of o2
100 100

As you can see, the green area is larger. So
52% is greater than 38%

02

SEI*:E



Fut the following numbers in order.
Start with the smallest.

0M2

oM2

39/

0.35

o4

0M0

47
100
OM7
0.3

Here, we
have
converted all
of the
numbers into
decimals.

QMO OM2

OM7

Here are the
numbers in
order.



Percentages as fractions and decimals  —— © Prove thot 02 i equal to 20%.
ou may use the hundred square to help you.

o Here are four hundred sguares.

A

Why do you think some people think thot 0.2 is equal to 2%?

o Complete the fraction, decimal and percentage equivalents.

o) 2% =t = g 020= %:%l-
]5%=_1I:ICI = 0.71 = %=|:|
100
Complete the table. [] ]
B ==05 = 0.03 = % =
100 03 = =
Hundred 100
Percentoge Fraction Crecirmal
Squore 17
h} —_—= % =
100
A 52
100 2 "
100 -
B
90 _ _
100 - "=
C
i}




a Write =, » or = to complete the stotements.
O &=

b 25% O 15,;'3 H]%O?%
wQt  wOs

e Write the walues in order from smaollest to greotest.

a) 50%

30 13
LT R
a1 3
b) 299% 100 0% 10
25 25
) 2.5 ETi ] 250 25% of 100 J000

a Corvert the froctions to hundredths.

Complete the decimal ond percentoge equivalents.

w0 [ ] B "

) 360 = S5 = =
— = o5
18 J:[
9 3007 T00 - = L

10 1 50
] 5 100
30 1 70
a0 i 140

B Jock and Dora go shopping with the some amount of money.
Jock spenl:ls% of his money.
Ciora spends 30% of her money.
a) Who spends more money?

Use froction and percentoge equivalence to explain
YoUr GNSWEr.

b) Jock and Doro each storted with £300

How much money do they eoch howe left?

Jack Dorg




Percentages as fractions and decimals

° Here are four hundred squares.

A

Complete the table.

Hhundrad Percentoge Fraction Decimal
square
- - 52
(= e m L
A o A W 1Dn l' - :'.
E :L..' "__] 0o -2L
Be,
C B o0 [)-&8
no
D 100 __ |

o Prove thot 0.2 is equal to 20%.

fou may use the hundred square to help you.

%
wl
-

ey

ety
o1

'

o

1
%,

L5

s
T

edi
Lo

L
!

Lk

e
%

T o el e
O T PR A ks A Ca

=y

Why do you think some people think thot 0.2 is equaol to 2%?

9 Completa the froction, decmal ond percentoge equivalents.

ﬂ} E%:: ':'!i
100 -
]5'3-a=_-1'"" =| gous
100
e
o | “F
17
h}ﬁ= 7 [* = o2
9 3
= 5 = ’ 1
100 : 09

g 0.20=

oM =

0.03 =

19

1

Y

=
[

—=
o]
o]

"
]




B

Write =, = or = to complete the stotements.
] 40
&0

a) S0%

a1
100 f) 82% 1m

Write the values in order from smallest to greatest.

30 13
aj 33% 00 3% 00
o 3
b)Y 299% 1 9% 10
i |'h {{"l ..-:‘
25 25
c) 2.5 00 250 25% of 100 3000
= -_'.:_- 7 3 i L[

Corvert the froctions to hundredths.

Complete the decimal ond percemtaoge eguivalernts.

0 L [T s
b} tam ECIEI_ El =| o055 |= & %
<} 3nu-%L 06 (= l& |%

° Circle all the froctions thot are greater thon or equal to 50%.

E II_. 4 ""-\.I ._."i'\.l
50 W5/ 100/
30 1 /707y
B0 E0 40

e Jock ond Do go shopping with the saome amount of money.
Jock spenl:Is% of his money.
Diora spends 30% of her money.
a) Who spends more moneay? 1=

Use fraction and percentoge equivalence to explain
YoUT QnSweer.

b} Jock ond Doro easch started with £300

Hoowe much money do they each hove left?

Jock | [aon Dora | o




White

Day 3 - Maths Summer Term Week 8
1. We are working on  (w/c I5™ June) D

2. Then find the lesson you are 8 adding decimals with the same

number of decimal places

3. Watch the videmn https://vimeo.com/428001477

4. You will need a penct and pg3z to help work out the answers

. Watch the video and practice as you go along

(read through the slides practice as you go along)

6. Have a go m At the end of the video or slides, answer the questions that are in your pack


https://vimeo.com/418156588
https://vimeo.com/418156588

RECAP for

Remember to align your numbers perimeter Rectangle 2 em
7 . 7|9 using the DECIMAL POINT!

| :.I:I/E/// 6 em

What is the shape's perimeter?

| OL2) ]
o 6+6+2+2=16cm
OR
6x2 = 12
22 = 4
12 + 4 = 16cm

Use the place valu

| 00 Mggg ANAR AF @2dz2QNB y2i

sure.
+ Have a go at this
* guestion and see if
you get the same
answer.




Adding decimals with the same number

of decimal places

n Complete the odditions.

Use the place value charts to help you.

a) 4.45 + 321 =

[GET] rerrs [rumiresis ) .
000,000 000 4]
o O @@ + | 3+ 2 1 L] ol 3 1 2 +0 | 3 4

+°°°.OO @ +3+t+a 1 + B+2 |27

b) 4.45 + 3.61 =

B - [ ? g

+ ‘
) 445+ 378 =

- Tenths | Hundredths d) h)

Which colculotion waos easier? Talk about it with o partner. Qi O'@hHe B Baths 3030



o Work out the coloulotions.

Write <, = or = to make the stotements correc.

a) 064+ 479 O L0171 + 023
b) 7427 + 3.238 O L.A27T + 5.H32
) 3.08 +4.63 O 4.84 + 2.87

° Teddy is working out the total cost of these iterns.

Here are his workings.

h«T7 b
+ 1 1.2 0
& 8.7 0

Talk to o partner about Teddy's mistake.

Work out the comrect onswer.

e Work out the perimeter of the shape.
4.5 cm
 azam '
perimeter = Il
o Complete the number line.
+ 1.78 + 1.78 + 1.78

3685

o Eva storts with the number 1.62

I added a number
and got 2.8

Rosie

This is impossible as 2.8
only has one digit after
the decimal.

Q' Is Rosie correct?
e

Talk about it with o partner.



Adding decimals with the same number

of decimal places

5 3 3 1 o 2
o Complete the additions.
+ | 2 5 + 5 B 7 G
Use the ploce value chorts to help you.
+18 219|7|%

a) 445 +321=| 7 [/

oy
5
=

b}
OO0 |00 s1as
O @@ + 3 2 1 & o 3 1 2 o 3 4
OO @ _115 4 +3+9 1 + stz 27
1194 201 1216 |1
I |
b) 445 +361=| 7 . ()0
< gl
Tenths | Hundredths
oo | fool [ coo shas 213 2 5.7 |5
o0 I-:-ﬁ\ o0 R R R + 1o |7 513 |2
(n]v] 'ﬂﬂ‘:'lll O 2106 12149 + | 540 |1
+ - :“F“ 000) I | 1640 | 8
I
) 445+378=| 0%
Tenths | Hundredths d) h)
00 6Dy L‘JG_L:;[ 4+4 5 6+3 7 1 atala
iU |‘.‘_}L“ Dﬂ! + |37 |8 + 6+2 6 + 01 . 2+3 7
+nn$®g%’ﬂ gf2 (2 ae]3 21313 ]e
 jo0 K - —

Which colculotion waos easier? Taolk cbout it with o partner. QI whie R Mzths 2009



o Work out the caloulotions.

Write <, = or = to make the stotements correc.

aj  0.64 + 479 O 501 + 023
b}y 7427 + 3.238 O L4277 + LE32
) 3.08 + 463 O 4.84 + 2.87

o Teddy is working cut the total cost of thase itamns.

Here are his workings.

h«7 b
+ 1 1.2 0
& &8-7 0

Talk to o portner about Teddy's mistake.

Work out the comect answeer.

e Work out the perirmeter of the shape.
4.5 om
o3 m '
perimeter = CITl
o Complete the number line.
+ 1.78 + 1.78 + 1.78

365

o Eva starts with the number 1.62

I added a nurmber
and got 2.8

Rosie

This is impossible as 2.8
only has one digit ufl:er
the decirnal.

Q‘ Is Rosie correct?
T

Talk gbout it with o portner.
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Day 4 - Maths Summer Term Week 8
(w/c I5™ June) D

1. We are working on:

2. Then find the lesson you are 6 Adding decimals with a different

number of decimal places

3. Watch the video on:  https://vimeo.com/428001528

4. You will need a penct and pg3z to help work out the answers

. Watch the video and practice as you go along

(read through the slides practice as you go along)

6. Have a go m At the end of the video or slides, answer the questions that are in your pack


https://vimeo.com/418156588
https://vimeo.com/418156588

'

Before we begin, have a go at

writing this addition in the boxes.

We must always line up
the decimal points

7+ 5 Have a go at
working this
3 e | 5 question out.

The answer is
on the next

page



25 + 316 =

!
. . ... ’I3o| [
L

® o 5¢6 6

@ ® o
® ‘D".'
&} ® | ©
5 ¢ 6 6

Did you get the question right?

Look at where each number is placed and represented in both
images above.

Can you see they are showing the same thing?

PE+ U =
3 2 « 8
I« | 7
S5a4 4+ 534 =
5 3 Y

Have a go at rewriting these
two questions.
The answers are on the next

page



R+ 07 = Have a go q

3 2 » 8 3 2+48
e 17 " le1 7
54 4+ 50 =
3 3 M 5 3 Y.
4 5«3 4 + Se3 Y

T

CORRECT



Adding decimals with a different number
of decimal places

o Ron is odding 1.4 ond 2.53

He makes eoch number with counters.

Tenths Hundredths

ee {00e0e 000

a} What is the onswer to Ron's colculotion?

b} Explain your method to o partner.

¢} Did you have to maoke on exchonge?

G Work out the additions.

a) €
ito| 2 218
+ |1+ 8 +|3+a |5
b) d)
1 3¢+5 6+ 1
+ o+ 2|3 + 1] 3+8

o Filip is odding two numbers together.

He writes it o5 o column oddition.

a) What mistake has Filip made?

b} Use the column method to work out the correct answer.

0 Usa the column method to work out the additions.
a) 236+ 1.9 b) 14.82 + 3.7




o Usa the colurmn method to work out the odditions. o Here are four numbsr cards.

a) 059 +119 ) 0591 +1.73
3.8 4.19 072 11.46
a) What is the greotest total you can make by odding two of
the numbers?
Cormplete the cloulation.
+ =
b} 77.34 +1.82 dj 3.2 +1.84 +09

b} What is the sum of the four numbers?

o Work out the missing digits.

a) 4.3 +1__37 =39.67 b) 48 4+ __.__ =1285
a Mr Hall drives from point A to point B, then on to point C.
1 o The total mass of the two boxes is 10.85 kg.
B What could the maoss of each box be?

A

Whot is the totol distonce thot Mr Hall drives?

How mony aonswers con you find?

ki
O Wit Raan Pdathe 3000




Adding decimals with a different number | @ o Filip is adding tweo numbers together.

i
u y —
of decimal places '

|
‘,f He writes it o5 a column addition.

T 1
o Ron is adding 1.4 and 2.53 &

He makes each number with oounters, a) What mistake hos Filip mode?
_&_tmﬁ_mldﬂjﬁm_@ﬁ_mms;
T W
I L
@ A 111 s ta  cdummd
"ﬁ b “ﬁ" Gi‘ b} Use the column method to work out the correct answer.
a} What is the arswer to Ron's colculation? 3‘[3
bl Explaoin your method to o portner. QI l 3 5
¢} Did you hove to moke on exchange? MO + I
11519(5
o Work out the additions. :
a} )
1+0 | 2 218 a Use the colurmn method to work owt the odditiors.
+1 118 +ladals a) 236+ 19 b) 14.82 + 3.7
Lie|2 612|5
L]
21314 | (4182
2 @ +[ 119 37
1] ats 6115 Lrd 16 1181512
| |
+ i 2 2 + 1 3 ]
13133 2010|5
1)1




o Use the column method to work out the odditions. a Here are four mumbser cards.

a) 058 +11.9 o) 0.591+ 1.73
1.8 4.9 .72 11.46
a) Whaot is the greatest total you con make by adding two of
015 |9 o5 (9 (| the murnbsrs?
11119 14213 Complete the caloulation.
| |24t [q] 71312
I I I
H-be [+| L-19 |=| 1565
b) 77.34+ 1.82 di 3.2 +1.84 + 0.9
b} Whaat is the sum of the four numbers?
- z . Wy - |
7| 413 4y 24 d 2 K
+ |48 |4 1 {184
L E {9 [
} 1 | |6 O =1 e Work out the missing digits.
| 5{9[3]1
a) 143+ 1237 = 39.67 b) 485 + 1.4 = 1265
e Mr Hall drives from point & to point B, then on to point C.
103.6 o The total mass of the two boxes is 10,85 kg,
B c What could the mass of each box be?  VOrouD  SRBIEL,
F.!
What is the total distance that Mr Hall drives? ——kg
Howw rmiany answers can you find?
60 [km

@ Whits s Mot 2020



Day 5 TTROCKS AND SUMDOG

Log on to TTROCKS &umdogo see if your teacher has set you any NEW CHALLENGES!

Keep a look out for any new coins your teacher miggte given you!




